A & R @ =

£ A H 26 £ 6 H 26 B FHIIES0S

At /P fCALETRIZ 20 2 0 1 RE=E

I £ & 5 26

I % 4 HEARSTHRYNEBSRABRHBETS

I = & P #CALET KFERERRRS A

FE i & (Brid) 3,481,920 FH  As#m&iEs Bk 3,224,000 M

B 16 I IR #% (B 2) 2,980,800 FH  AsmmmiEs @) 2,760,000 H

BFREE(HA) 3,294,000 M #H&a <% (Hik) 3,050,000 M
*EA A W & wHE &

RMER #Xsit 3, 050, 000 & #LirE

A& #0IMAE 3,070, 000

HAst BAME 3,095, 000

HR&t HEM 3,150, 000

WEEE #Xai 3,200, 000

ESRAALEEIZ1005 O8ITAE L HEE%E N L - S EAT L AT RS B HRA £
DEAHIZF DML THS.



